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(1) There are five students - P, Q, R, S and T having different (4) The weights of 4 boxes are 90, 30, 40 and 60 kilograms.
heights in a class. P's height is more than only one student. Q's | Which of the following cannot be the total weight, in kilograms,
height is more than S and P but not more than R. S's height is of any combination of these boxes and in a combination a box
more than P. R is not the smallest. Who is having the maximum | can be used only once?

height in the class? IR FaGI BT doT 90, 30, 40 3R 60 fHarm g1 Fufafaa ¥ 9

U el H Ul BFT - P, Q R, S TUT T BT SHals -3 | P P | ST & fopalt Hf GalioH ¥ S aoH, e & 1 11 a1 81
SIS $ad UH BA Y RS I QB SR S TP I 3RFH 8, | Foball g 3R T HAISH H U ST U ot IR TANT H <y ol
AT R T 31f TR 1 S B S P F 31 §1 R Y BleT It | Tebdl 87

21 peT H Iy 3HfYp SHaTs bl 87 SSCCGL201721AUG-S3 : 11
SSCCGL201708AUG-S2 : 10 (a) 200 (b) 220 (c) 180 (d) 130
(@Q (b) R (©S dT

(5) The weights of 4 boxes are 10, 40, 50 and 80 kilograms.

(2) In a row of 74 girls, Shweta is 27t from left end. Palak is 7t" to | Which of the following cannot be the total weight, in kilograms,
the right of Shweta. What is Palak's position from the right end | of any combination of these boxes and in a combination a box
of the row? can be used only once?

74 ISl B U Ul B, AT BR Y 27-d RIM W g1 Uold, | IR §a41 T aoi 10, 40, 50 3R 80 fpeium g1 Fafafea # 9
AT H S 7-3 ™M WR T TP $T M UG F B SR $T R T | 51 & [t +ff Taio I 3 avH, fhaiom & oF ar el &)

T2 Hehdl & 3R T TS H Teh R Teb g1 IR TN & AR off
SSCCGL201708AUG-S2 : 11 Fobel 87
(a) 40 (b) 41 (c) 42 (d) 44 SSCCGL201722AUG-S2 : 11

(@) 120 (b) 100 ¢) 90 (d) 110

(3) There are five girls - R, S, T, P and Q sitting in a row facing
north. T is sitting exactly in the middle of the row. Q is sitting to | (6) In a class, P has more marks than Q and R does not have the
the immediate right and immediate left of P and T respectively. S | least marks. S has more marks than T and T has more marks than
is not sitting at the extreme end. Who is sitting third to the left P, who among them will have the least marks?

of R? Ueh &M H, P & 3fcb Q J e & U R & 3fcb Y& HH T8I 61 S
Ui ASfBaT-R, S, T, P AN QIR BT AR TEIRG TH UlGd T | F 3l T 31fd qu1 T & 3 P & 31 &, 37 & fpwip i
IR E R TR S A FIN G R QPN P PA I AU T | WA

F arﬁézﬂ@é%mﬁémﬁn@vmﬁéﬁ%m%aﬁ SSCCGL201710AUG-S2 : 11

sh??ﬁﬂ%wﬂwa?ﬁéa“r@ ? @) P ®) Q © S @ T
SSCCGL201711AUG-S3 : 11
(@ P (b) Q (©S T (7) The weights of 4 boxes are 40, 30, 50 and 20 kilograms.

Which of the following cannot be the total weight,in kilograms,



https://play.google.com/store/apps/details?id=com.onlinesetpractice.testseries
http://login.onlinesetpractice.com/

—  Downloaded from GovernmentAdda.com

India's Best Website for S5C, Banking,

SSCCGL 201

,Insurance Exams

of any combination of these boxes and in a combination a box
can be used only once?

IR TR BT oM 40, 30, 50 3R 20 M 31 ol &
4! & et ot GAeH ¥ P aor, fhamd d & a1 78 8l
Tl § 3R TP T=oH § T 941 U &1 IR YaRT & arn off

Jpdl g7
SSCCGL201717AUG-S1 : 11
(a) 140 (b) 130 (c) 90 (d) 100

(8) There are 45 trees in a row. The lemon tree is 20th from right
end. What is the rank of lemon tree from left end?

TS Ufad § 45 381 &1 g 138 G BR T 20 § R W g1 g,
& & BT RIM I IR I FT 87
SSCCGL201709AUG-S1 : 11
(a) 26 (b) 24

(c) 25 (d) 27

(9) In the English alphabet, which letter is 13th from right end?
SISht quATET # < BR F 13-3 RIF W S I &R 77
SSCCGL201711AUG-S1 : 11
(@)L (b) M ()N (d)O
(10) In a row of boys, Tarak is 18th from either end. How many
boys are there in the row?

TSH! DI U Ufad H, RS Ufad & el ©RI ¥ 18- RIF W g
Ufad # fora Ted 82
SSCCGL201712AUG-S2 : 11
(@ 19 (b) 36 c) 35 (d) 42
(11) Among four books, Book1 is twice as heavy as Book 2. Book
3's weight is half of Book 2's weight. Book 4 is 60 grams more as
compared to Book 2 but 60 grams less as compared Book 1.
Which book is heaviest?

IR GED! § TP 1, T&Ieb 2 A S IS B 1 &b 3 T HR
AP 2 B HR BT 3T & | TP 4 BT YR Y 2 PI o1 & 60
1 3 B AfP YR 1 P! o | 60 UMW HH g1 I Al

b qad HRY 82

SSCCGL201712AUG-S3 : 11

(a) Book 1 / Q&b 1 (b) Book 2 / ¥ 2
(c) Book 3 / & 3 (d) Book 4 / J¥d® 4

(12) In a row of books a book of English is 16th from left end of
row. A book of Mathematics is 12th from the right end. If the
Mathematics book is 6th to the right of the English book, then
how many total books are in the row?

TD| B T Ufdd § SIS &t Uh Tiash Ufed H Il 8R ¥ 16 d
RIM W g1 T &1 T Jad a8 BRI 12 I RFA R g1 3l
TOT Y Qe 3o B G & 6 R S B 3R B, o dfe
T foa gHd &7
SSCCGL201711AUG-S2 : 11
(a) 33 (b) 32 (c) 34 (d) 31
(13) The weights of 4 boxes are 100, 70, 50 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR g1 BT asH 100, 70, 50 3R 90 fpawmm g1 FEfafaa & 9
T & fopdt off TOo O pot oo, foraiumd § & et 8l
Ihdl & 3R T FAIo H U §99T1 U U &) SR YA H <1m off
Hohdl :
SSCCGL201717AUG-S2 : 11
(a) 310 (b) 260

(c) 230 (d) 210

(14) Pearl Towers is taller than Sky Towers but shorter than Unity
Towers. Unity Towers and Cyber Towers are of same height.
Pearl Towers is shorter than Indus Towers. Amongst the
buildings, who is the second shortest?

Tef HHR, W18 AR ¥ $h B A gt iR A o1t 81 g
TR quT Grger HHR &1 Sarsal 90 &1 Uel iR, 59 HAR
BT 81 37 SARGT H § g a9 SIS HHAR o @ 72
SSCCGL201709AUG-S3 : 11

(a) Pearl Tower/tl?TIﬂTﬂT (b) Sky Tower/Wl'&FIﬂ?R
(¢) Indus Tower / $89 HMR(d) Unity Tower / gf1e! HHR

(15) The weights of 4 boxes are 20, 40, 50 and 30 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once

IR TGI BT a9 20, 40, 50 3R 30 fbaium 1 Fefafa § 9
g & fplt ot TaieH & pot dor fhaiumd # Te) 8 Iobel § 3R
T o H Teb a1 Uh &t IR YA H AT off bl 82
SSCCGL201717AUG-S3 : 11
(a) 140 (b) 130

(c) 90 (d) 120
(16) The weights of 4 boxes are 70, 50, 30 and 90 kilograms.
Which of the following cannot be the total weight,in kilograms,
of any combination of these boxes and in a combination a box
can be used only once

TR §1 BT I 70, 50, 30 3R 90 fbaiwm B Fefifea & 3
o1 & fopdt ot TOioH @ Hot oo, fpamm & & I el 8
Tl § R TP HAIoH | TP 999 U & IR FANT & /T o

Hpdl 8?2
SSCCGL201718AUG-S2 : 11
() 220 (b) 240 (©) 210 (d) 170

(17) The weights of 4 boxes are 20, 40, 80 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

TR FI BT IO 20, 40, 80 3R 90 fraum g Fafafeaa & @
St & foreft off GaS | et aor, bl § &IF 1 et &)
Tardl § 3R Th Yo B U 97 U &1 IR YaRT o @rm o

Tebdl 82
SSCCGL201718AUG-S3 : 11
(a) 220 (b) 230 (© 150 (d) 210

(18) The weights of 4 boxes are 40, 70, 80 and 50
kilograms.Which of the following cannot be the total weight,in
kilograms, of any combination of these boxes and in a
combination a box can be used only once

TR §e! BT oI 40,70,80,3R 50 fbeim § [Rafefad # § st
¥ fordt oft oo @ od g, [ o Q & I1 78 8 Yabar
T 3R TF GioH § Ue T=1ei B U a1 U &1 aR TanT &
AT S el © ?
SSCCGL201718AUG-S1: 11
(a) 240 (b) 160

(c) 200 (d) 220
(19) The weights of 4 boxes are 20, 90, 40 and 60 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

TR FT BT Io 20, 90, 40 3R 60 fhamm g Fafafea & 3
o & fpaft +ft Gaiom ¥ d ao, fraum | 19 w1 8l 8
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?ﬁb_cﬂ% SﬁTWWﬁWWW'@WWﬁWW Which of the following cannot be the total weight, in kilograms,
Yopdl 82 of any combination of these boxes and in a combination a box
SSCCGL201719AUG-S1 : 11 can be used only once?

(@) 210 (b) 170 () 190 (d)200 | 9R ¥ &7 oM 30, 40, 50 3R 80 fHrawmy § | Fufafea & &

(20) There are five energy drinks - Red, Moto, Energy, Lion and
Bull containing different range of sugar content. Moto having
sugar content more than all other drinks. Energy having the
sugar content only more than the Lion. Bull is not having sugar
content more than the Red. Which of the following drink having
the second most sugar content?

T ol U — X8, Hlel, Tol, Ao auT ga & it ) o iy -
=1 g1 A1E & 1 1 9T 39 ol Ul 1 g B el e
81 TS & i &Y 9T had argq ¥ 31 81 g | I Bt A
S ¥ 31 et ¢ | iR # 4 g Soif 09 & gudt 9ad
31 i+t Bt AT B2

SSCCGL201716AUG-S1 : 11

(a) Bull / g1 (b) Energy / TSI

(c) Red / HIcY (d) Moto / IS

(21) In a row of people Manu is 7th from bottom end of row.
Shrey is 10 ranks above Manu. If Shrey is 8th from top end, then
how many people are there in this row?

RN B1 T Ufdd B A - $ BR Y 74 RIM R 1 G, T 10
WH SR 71 I NI SR F BR Y 83 WM R g, f 39 dfea &

e A g2
SSCCGL201716AUG-S2 : 10
(@) 25 (b) 26 (0) 24 (d) 23

(22) The weights of 4 boxes are 30, 20, 50 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

TR §eGT BT % 30, 20, 50 3R 90 fhaim 3| Fefafaa & @
o1 % fopddl ot TOioM @ oot oo, fpaomm § & el 8

vl § 3R T JOSH 7 U 959 T 81 IR Y41 H amr s
TPpdT g7

SSCCGL201719AUG-S2 : 11

(a) 200 (b) 190 () 140 (d) 160

(23) The weights of 4 boxes are 30, 20, 60 and 70 kilograms.
Which of the following cannot be the total weight,in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR FY BT IO 30, 20, 60 31R 70 fram 3| Fafafaa &
TR & et ot GaIom § o aoi , fararam B & a1 T8t 8t
FHAI § IR U FIo § T 9o U g1 SR TaRT # A off

Igparg ?
SSCCGL201719AUG-S3 : 11
(a) 180 (b) 170 (c) 120 (d) 150

(24) The weights of 4 boxes are 30, 70, 60 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

4 &= &1 4R 30, 70, 60 3R 90 fararum 7| Fufafad & § fesst
& ot ot GoH & ot R b & A B 91 8 81 Ibar &
3R U Yo B Ueh fSaT U €t TR TaNT & ST T Tl 87
SSCCGL201720AUG-S1 : 11
(a) 250 (b) 200

(c) 190 (d) 220

(25) The weights of 4 boxes are 30, 40, 50 and 80 kilograms.

TR & foreht oft TOIoH 9 oa ao , fram & Sior & gt 8
Tphdl g 3R T o A T 91 U &t IR YA H o1 off

Jparg ?
SSCCGL201721AUG-S1 : 11
(@) 120 (b) 110 (c) 100 (d) 130

(26) The weights of 4 boxes are 30, 70, 60 and 20 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

4 &3 &1 YR 30, 70, 60 3R 90 foraim | Fufafed & 3 fesst
& fopalt +ft TAIoM & P WR fbammd & ¥ S 91 781 81 9l §
3R T HAeT H Ueb [Soa1 Uob 81 AR TN H <11 Sff Hebell 672
SSCCGL201721AUG-S2 : 11
(a) 180 (b) 190 (c) 120 (d) 150
(27) The weights of 4 boxes are 80, 60, 90 and 70 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes?

TR J! BT goM 80, 60, 90 3R 70 frem 7| FAfafea & &
o & fopt off TioH Q od aoH, fhaio # 1 I e 8
b dIl?
SSCCGL201706AUG-S1 : 11
(a) 300 (b) 230 (c) 220 (d) 290
(28) In a row, there are 6 boys between A and B and A being the
first boy in row. There are 3 boys between B and C. If there are
12 boys after C, then how many minimum boys are there in the
row?

TH U A AT B & TS 6 ASH ¢ auT A Ul & wa9 ugan
ASHI | BT C S A H 3 TSH 5| A C P UAM 12 TSH o,
@ ufad & &0 I H1 fhe aSd 87
SSCCGL201706AUG-S1:18

(@) 20 (b) 16 (c) 24
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(29) The weights of 4 boxes are 70, 100, 20 and 40 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes?

TR g1 BT o 70, 100, 20 3R 40 fhaum ¢ | Fafafea & &
g1 & foelt W Ao 4 oot aoM, fbdum § o1 9178 8l
Hobdl bdl?
SSCCGL201706AUG-S3 : 11
(@) 230 (b) 190 (c) 160 (d) 200
(30) The weights of 4 boxes are 20, 30, 40 and 60 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box

can be used only once?
TR FH1 BT o 20, 30, 40 3R 60 fhaum g | Fafafea & 3
g1 & foelt W Te 4 et g, fbaum & 19 91 78 81
gw%aﬁ?wwmﬁwwwﬁwmwww
?
SSCCGL201723AUG-S3 : 11
(a) 150 (b) 110 () 130 (d) 140
(31) The weights of 4 boxes are 20, 30, 50 and 70 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR Fa4] BT doM 20,30,50,3R 70 fHemd # § so & foreht +ff
OIS § Bt aor , fpaiom & &1 91 781 &) Gobdl § 3R T
IS § T ST U §1 SR TANT # ST off bl § ?
SSCCGL201720AUG-S2 : 11
(a) 170 (b) 160 (c) 120 (d) 150
(32) The weights of 4 boxes are 90, 30, 20 and 50 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR §&I1 BT g 90, 30, 20 3R 50 fraums g1 Fufafaa 4
gt & et off T ¥ Fa o, frdmm d o T ag 8l
TpdT g 3R Th TaIoH H U 91 U &1 IR UGN H AT Sff

Jhdl g7
SSCCGL201722AUG-S3 : 11
(a) 190 (b) 170 (c) 100 (d) 150

(33) The weights of 4 boxes are 30, 40, 50 and 100 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR ST BT d9M 30, 40, 50 3R 100 fharm g1 FafRed § &
SRt o fopalt off T Q Bt aor, fpam § i a1 el 8l
THAI & SR U Ho H T ST U &1 SR WA § o/ o

Tpdl g7
SSCCGL201723AUG-S1 : 11
(a) 190 (b) 180 () 160 (d) 140

(34) The weights of 4 boxes are 20, 40, 60 and 90 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these

boxes and in a combination a box can be used only once?

IR FRIT BT Il 70, 100, 20 3R 40 fhaum g1 Fafafed 7§ 3
g4t & forelt oft T O Fot aor, faram B &9 91 78 Iobar

g7
SSCCGL201722AUG-S1 : 11
(a) 150 (b) 170 (c) 120 (d) 160

(35) The weights of 4 boxes are 100, 90, 80 and 40 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these

boxes and in a combination a box can be used only once?

IR I BT I 100, 90, 80 3MR 40 frarm g1 Fuffta # 9
I & ot 1ft TaioM & o aor, fraum & o9 w1 =61 8
Tl § 3R Th TS § U 91 Th &1 IR YA H ardm o

bl 87
SSCCGL201723AUG-S2 : 11
(a) 200 -(b) 310 (© 230 (d) 210

(36) The weights of 4 boxes are 90, 40, 80 and 50 kilograms.
Which of the following cannot be the total weight, in kilograms,
of any combination of these boxes and in a combination a box
can be used only once?

IR TSI BT G 90, 40, 80 3R 50 fraums g1 Fufafaad 4
gt & et ot T § Pt aur, fram J &F w1 8 8l
Tl § 3R Th T H U I Th &1 IR TANT H A off

bl 82
SSCCGL201720AUG-S3 : 11
(a) 200 (b) 260 (© 180 (d) 170
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Solution:

(M
R>Q>S>P>T
R is having the maximum height in the class.

3)
PQTSR
Q is sitting third to the left of R.

4

Except 200 all other number can be formed.

©)

80 +40 =120
40 + 50 + 10 = 100
50 + 40 =90

110 is not any combination.

(6)

Order of marks from top to bottom

Top position =

S

T

P

Q

As per question R doesn't have the least marks
So, Q have the least marks

®)
45-20+1=26

(©)

13 th letter from right end = 26 - 13 + 1
= 14 th place

=N

(10)
If Tarak is 18t from either end then he is at center
so total people (18*2)-1 = 35

(11)

Let wait of book 3 be x so book 1 is 4x and book 2 Is 2x
So 4= 2x+60 = 4x-60

Solving x = 60

Putting values we get book 1 is heaviest.

(14)
Cyber Tower = unity Tower > Pearl Tower > Sky tower

(20)
Moto > Red > Bull > Energy > Lion

(21)

Shrey rank from bottom =7 + 10 = 17
Shrey rank from top = 8

Total people = 17 + 8 -1

=24
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